A proposed mechanism for the reaction
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What is the rate law for the overall reaction?

a) K[Cl,][H,]
b) K[Cl,]J*[H,]
c) K[CIJ?[H,]
d) k[H,]

e) K[Cly][H,]




Consider the reaction below when selecting an answer that goes with each of
the statements below.
uk

N>(g) + 3Hs(g) —‘ENHé@a\e %9 —92 kJ

What happens Wﬁtl@@m a@ﬁe%?hcreased after the system has
reaclig%%}u Page

a) The equilibrium constant stays the same, the reaction shifts to the right to reestablish equilibrium.
b) The equilibrium constant stays the same, the reaction shifts to the left to reestablish equilibrium.
c) The equilibrium constant stays the same, the reaction does not shift to either the right or left.

d) The equilibrium constant increases.

e) The equilibrium constant decreases.




Chapter 12: Part 5

Acid/Base and Solubtity Equilibria

oW
P ( e\,1Ioruzed in %g
H,O 2

g

>

o)

HF F- :

HC2H3OZ C2H3OZ 2

Weak

Negligible Weak
o
N
T
| Strong
N ~<~— Base stren

HCO;~ CO5*~
HPO,2~ PO"
H,0O OH™
OH"™ o*”

Acid strength increases ———»

100%
protonated
- in H2O
CH, CH;




